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1. Let ¥ be a vector function and it can be written as Vx, 3, 2) = L (x> + )* + 2°)(i + J + k).
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Calculate the followings :

(@) V(1,04);  (b) V(1,04 (c) curlV ; (d) divl; (e)/(0,0,2) » V(2,0,2)

.
?

2. Evaluate the following determinants:

) 2 8 6 6 10 2 1

0 0 7 ]
@ o 1 o 281 6 o 207 9
¢ 5 3 77 103 578 99 13 4 6 0
; 12 34 17 78 41 0 2

3. Find the general solution of the non-homeogeneous equation:

33"+ 10y + 3y = 9x + Scos x

4. Solve the initial value problem by the Laplace Transfornu

Y-y -2y=0 y0) =8 yO) =7

5. Find the angle between straight lines 3x + Sy = 0 and 4x - 2y = J

6. Evaluate the line integral j; F(7) » dF, where F(F) = 5zi + xzy] + x’yk and C is the straighi-line

segment with initial point A: (0,0,0) and terminal point B: (2,3, 1).

7. Sketch the graph and find the Fourier series of the periodic function Ax), of petiod P = 4,

where f(x) = 3 for — 2 < x < 0 and flx) = -3 for 0 < x < 2.





